EREAGIKRAD GERE - TR 5)

{Ff6F2H 1 A

X % it FEH A = L 8
% X 7,160 13,065 6,710 6,355
X |,444 3,043 1,505 1,538
o oX 679 |,446 729 717
#H X 1,308 2,839 1,472 1,367
X 7,355 | 4,650 7,272 7,378
R X 1,538 3,293 1,618 1,675
X 1,177 2,538 1,255 1,283
#H X 8,361 18,928 9,143 9,785
#H X 6,664 15,623 7,814 7,809
5 35,686 75,425 37,518 37,907

{RFf6F2AH 1 B

T 8 K 4& tH®H | A = 5 3
g £+ R | 185 310 133 177
® B 4t 80 140 79 6l
® B @ 225 395 206 1 89
® B T 156 264 129 135
5 P 189 331 186 | 45
d L o | 299 476 270 206
H ip) 123 250 118 132
1% i} 209 336 213 123
1, T 352 599 326 273
X O OH R 139 233 125 108
XK OH A 1 183 q3 90
XK OH @ 180 308 148 160
K M | 392 738 379 359
K M 2 4717 894 469 425
# i} 300 537 257 280
7 H @ 308 582 280 302
£ # 155 291 157 |34
£ # 172 318 166 152
£ # T 17 26| 132 | 29
+ # R 56 113 57 56
K ij) |49 293 128 165
T & ik 83 132 62 70
L 105 187 qq 88
T B R % | 172 358 173 185
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ERELRGI/RAD (X

- ITEXX B1)

Lf6F2H | H
X 4% iIT B 4 # F K A o 5B %

B Bt 29| 572 290 282
B OB T 213 380 186 194
& 7 24 | 535 264 27|
& Bt 335 668 335 333
L B 314 549 294 255
% BT 539 994 536 458
T + B 2 93 154 60 94
oL oL 2 268 447 258 189
TH R E 2 132 237 102 135
O 3 7,160 13,065 6,710 6,355
g R | F 25 216 395 195 200
T 177 385 199 186
S F 60 121 60 61
A 118 259 131 128

= Al 67 156 77 79
N L 8l 163 80 83
2 * 74 | 47 71 76
1% " 51 113 58 55
7 ¥k 63 130 64 66
= ¥ F 84 183 90 93
N i 93 189 86 103
¥ K 47 106 55 51
T B 67 127 62 65
t = B 83 186 89 q7
it T R’ 26 63 32 31
K & %7 6 137 320 156 | 64
X i | bbb 3,043 1,505 1,538
F i K g i 129 255 126 129
* H 189 377 1 80 197
7 = 128 295 152 143
T 7 F 43 104 54 50
R 15 113 253 136 117
X % 77 162 8l 8l
oK 3 679 1,446 729 )
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ERELRGI/RAD (X

- ITEXX B1)

{Ff6F2H 1 A
H K % TR E % # F K | A = L 8
NR OB R TN R 120 252 133 11g
= I N 9 57 11g 55 64
VAN A 40 92 46 46
T N R 79 177 87 90
£t B R 109 244 128 116
il i 48 94 45 49
T B R ¥ 11q 254 133 121
v B R K 103 232 131 101
t B B K ql 218 117 101
T R 47 108 51 57
i R 86 | 85 q7 88
& 72} 73 180 85 95
i 1t 336 684 364 320
# X F 1,308 2,839 1,472 1,367
Bl = o3 B | o2 g | 96 229 113 116
= % 2 77 182 85 q7
= &£ 3 120 253 113 1 40
£ L B 145 331 160 171
EE#®EHA |45 362 192 170
% & B 400 840 415 425
B8 #o 390 722 377 345
INBE S| |59 323 166 157
NGB E R 2 113 243 1 20 123
B 8t | 398 792 382 410
B P B 2 586 1,204 602 602
A 127 305 138 167
MERNES 76 180 88 92
e & % & 7 18 12 6
K % 63 156 78 78
Bl & @ 47 90 46 44
T & 109 266 128 138
i 5 96 238 118 1 20
1 H 43 q7 45 52
B & AR 180 325 166 159
i * 305 576 286 290
= B A 225 450 218 232
= B 8 96 203 |04 qq
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EFRELRGHRAD GEXE] - ITEEFI)
{Ff6F2H 1 A
H K % T B R & # F K | A = L 8
i T 297 501 228 273
v & E 222 424 221 203
0= A L | 92 197 q7 100
= & | 218 380 204 176
= B 2 495 ql1q 457 462
% & 3 454 779 392 387
= B @& 255 483 232 251
% & 5 199 370 193 177
- 319 588 305 283
B 4 K 2 410 76 | 375 386
IR | 82 152 79 73
N g B X 142 353 168 185
mHEm 167 358 169 | 89
# X F 7,355 14,650 7,272 7,378
NERAR®EE | ) 2 43| q01 432 469
it H, 418 897 43| 466
§ 48R 16 37 |7 20
L ¥R 73 | 64 90 74
L3 22 49 103 59 44
BwOE A 43 84 46 38
vl & 45 116 59 57
%n F qq 222 103 119
i3 = 268 544 273 271
w D1 38 q7 44 53
#H L = 58 128 64 64
#h X3 1,538 3,293 1,618 1,675
IEXHEE | g S 102 234 122 |12
it vl 88 196 96 100
T 2 39 95 49 46
g H 78 |77 89 88
Ak E A @ 45 102 46 56
B Bk IR T @ 63 142 75 67
& b # = 76 |1 69 86 83
) ‘A 86 202 102 100
B A R 600 1,221 590 631
# K3 1,177 2,538 1,255 1,283

4/6r—




EREAGIKRAD GERE - TR 5)

{Ff6F2H 1 A
H K % T B R & # F K | A = L 8
tEgEa8®E | B L | 198 413 199 214
£ L4 2 219 477 223 254
£ Wu 3 166 378 198 180
£ L 4 351 869 372 497
£ L 5 294 634 298 336
£ WL 6 304 693 346 347
£ L 7 250 596 293 303
£ w8 289 632 318 314
woOE | 453 933 436 497
woOE 2 131 359 179 180
wo ¥ 3 248 529 270 259
W OE 4 170 361 177 | 84
W ¥ 5 263 572 278 294
woOE 6 289 634 297 337
N g 29 63 32 31
N K2 360 923 460 463
N3 | 84 41 | 212 199
N 4 587 1,181 537 644
o8 | 217 458 227 231
o8 2 251 567 266 301
&8 3 157 350 186 | 64
SO 284 714 356 358
F & 5 212 463 210 253
B R OE 210 510 245 265
B R & 2 213 587 290 297
B R & 3 78 195 94 101
v R & 4 218 460 221 239
B R & 5 302 770 360 410
A &R & | 175 425 214 211
A R & 2 180 423 217 206
A & & 3 360 813 399 414
A &R & 4 719 1,535 733 802
# X3 8,361 18,928 9,143 9,785
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EFRELRGHRAD GEXE] - ITEEFI)
{Ff6F2H | H
w K & iT X B 4 # % A ] 5 %
BErEMBE | o4y g | 284 539 328 21|
= A 142 356 179 177
% 7 B 3 210 486 250 236
B4y B 4 257 713 355 358
% 7 B 5 373 863 408 455
B 7 B 6 363 992 504 488
= Y 445 1,096 556 540
W/ A" | 316 729 342 387
W/ A" 2 242 590 291 299
W/ W 3 247 619 309 310
W/ A 4 274 656 316 340
W / W 5 312 721 365 356
W / RN 6 175 497 230 267
w4y B 531 1,126 568 558
w7 B 2 424 945 467 478
w4 B 3 373 1,028 521 507
w7 B 4 271 498 253 245
= | 297 752 382 370
B N2 443 1,035 529 506
B N 3 299 722 360 362
B W 4 287 529 256 273
v B | 79 79 21 58
v 2 3 20 52 24 28
# X E 6,664 15,623 7,814 7,809
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